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Do Now:

Solve the following:
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V72 )2 = ~144
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Learning Target:

LORYTING T@QuATIoNS

I can write an equation given the roots of the
polynomuial.
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Reminder:

Solve the following for its roots:

\/=2x+ X' +8x+15=y

Yt =0 1 xRgytis=

:Z. VO?Yo VN = =
<%?<aﬁ§tz (X+B3)(x+3)=0

X=-5 X =

X+5=0 a4 X13=0
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x> +8x+15=y

x> +8x+15=0
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Ronin 1s on a pogo stick and hops from the start 4

feet.
Write an equation to model his path.
O
‘ X=0 " (/Ur(k as

i % (xw) S‘W‘p "
\ X =Uy  dist,

[y=xFu =y
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Logan was jealous of Ronin's awesome pogo skills,
so he started one foot back and hopped a total of 6

feet. Write an equation to model his path.
X="]|

(xﬁm)
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What about imagmary roots?

A\wm.(g Cowre x—21 )-9\\
woivha A friera
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x =32

Since they come in pairs, | know:

x = 3,2i,—2i

The WX = 3)(x — 2i)(x + 2i)
Multiply:

(g —3Wx2 + 28— 2i — 412)
Simplify:

(x = 3)(x? +4)

Multiply:

¥3—3xf+4x— 12 =y

Oct 3-9:40 AM

Double Roots???
x=2,2
(x- z)(x 2))

X = x—ax + 4

A
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Exit Slip:

Find the equation if the roots are:

x=1,1
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